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�જુરાત ગૌણ સેવા પસદંગી મડંળ, ગાધંીનગર 

           મડંળની �હ�રાત �માકંઃ ૮૮/૨૦૧૬૧૭, આસી#ટ%ટ મશીનમને, વગ+-૩ સવંગ+ની તા. 

૧૨/૦૨/૨૦૧૭ ના રોજ મડંળ /ારા યોજવામા ં  આવેલ ઓન-લાઇન # પધા+6 મક લે7ખત  પર9:ામા ં

;છુાયેલ >?ોના  સાચા જવાબોની >ોિવઝનલ આ% સર ક9 નીચે >માણ ેEકુવામા ંઆવે છે. F અ%વય ે

ઉકત પર9:ાના ઉમેદવારો તરફથી કોઇ રLુઆત હોય તો તે તા. ૨૭/૦૨/૨૦૧૭ ના રોજ બપોરના 

૧૭-૦૦ કલાક Mધુીમા ંમડંળને NબNમા ં/ ટપાલ મારફત જNર9 આધારો સOહત રLુ કરવા જણાવવામા ં

આવે છે. 

        જNર9 આધારો વગરની ક� ઉકત સમય મયા+દા બાદ રLુ કરવામા ંઆવેલ રLુઆત  Pયાને  

લેવામા ં આવશે નહQ.  અને મડંળ /ારા જNર9 કાય+વાહ9 કર9ને આખર9 આ% સર ક9 >િસR કર9ને 

આગળની કાય+વાહ9 હાથ ધરવામા ંઆવશ.ે Fની પણ ઉમેદવારોએ નTધ લેવી. 
Que 

No. 

 
Option  & Answer (With Options) 

  Correct Answer 

1   Alum bath application on plate will convert (A) Plate as oleophilic 

(A) Plate as oleophilic   

(B) Plate as hydrophilic   

(C) Plate surface into smooth surface   

(D) Plate regrain operation   

2   Gears are used to rotate (D) All of the above 

(A) Plate cylinder   

(B) Blanket cylinder   

(C) Impression cylinder   

(D) All of the above   

3   �જુરાત રા�યના આરો�ય અને પ�રવાર ક�યાણ િવભાગ "ારા “લે%સી િવરોધી 

�દન” ની ઉજવણી કયા �દવસે કરવામા ંઆવે છે ? 

(B) 30, �%Uઆુર9 

(A) 14, નવે)બર   

(B) 30, +,-આુર.   

(C) 2, ઓ0ટોબર   

(D) 22, �ડસે)બર   

4   ‘Due-tone’ printing means (D) Two colour job 

(A) Single colour job   

(B) Three colour job   

(C) Four colour job   

(D) Two colour job   

5   23ુુરાજ જોશી5ુ ંઉપનામ દશા6વો. (C) સાર#વV ્

(A) 8,ુદર9 ્   

(B) ;મૂક=> ુ   

(C) સાર?વ> ્   

(D) દશ6ક   
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6   Digital printing imparts (D) All of the above 

(A) Minimum pollution   

(B) Quick image generation   

(C) Quality output   

(D) All of the above   

7   Solid area on plate requires (A) Less water 

(A) Less water   

(B) More water   

(C) Less ink   

(D) Both ( A ) & ( C )   

8   સોલકં. રા+ઓની રાજધાની કઇ હતી ? (C) અણહ9લ;રુ (પાટણ) 

(A) ભાવનગર   

(B) Bુનાગઢ   

(C) અણહ.લ2રુ (પાટણ)   

(D) 8રુત   

9   1 મીટર = .................. સે.મી. (A) 100 

(A) 100   

(B) 10   

(C) 7   

(D) 1000   

10   નીચેનામાથંી કયો પદાથ6 પાણીમા ંIાJય નથી ? (C) ખીલી 
(A) ખાડં   

(B) મીLંુ   

(C) ખીલી   

(D) મોરMMૂ ુ   

11   Bearing of rollers may be lubricated with (D) Grease 

(A) kerosene   

(B) Terpentine   

(C) Lubricating oil   

(D) Grease   

12   Wire mark is found in (B) Currency notes 

(A) Postal stamp   

(B) Currency notes   

(C) Stamp paper   

(D) Chocolate wrapper   

13   આપેલ વાNમા ંિનપાત જણાવો.       ‘ આOુ ંટ.વી ગામમા ંફ0ત બે જણને Qયા ંછે ’  (D) ફZત 

(A) આOુ ં   

(B) Qયા ં   

(C) મા ં   

(D) ફ0ત   

14   More packing under plate will result into (A) Shortening of image 

(A) Shortening of image   

(B) Lengthening of image   

(C) Same size of image   

(D) Expansion of paper   
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15   If we had run faster, we ............. the train. (C) could have caught 

(A) can have caught   

(B) might have cought   

(C) could have caught   

(D) shall have caught   

16   For ‘Refresh’, enter the key (C) F5 

(A) F10   

(B) F2   

(C) F5   

(D) F4   

17   On keyboard the numerical keys are (B) From 0 to 9 

(A) From 0 to 10   

(B) From 0 to 9   

(C) From 1 to 9   

(D) From 1 to 8   

18   �જુરાતનો સૌથી Sચો પવ6ત કયો છે ? (B) 7ગરનાર 

(A) પાવાગઢ   

(B) Tગરનાર   

(C) શેUુંજય   

(D) VબાW   

19   Ideal press room temperature for offset is (C) 250 C 

(A) 00 C   

(B) 0.50 C   

(C) 250 C   

(D) 400 C   

20   સાચો સમાનાથX શYદ શોધોઃ ‘નાવTલયો’ (C) પિત 

(A) નવ\ુ ં   

(B) નાિવક   

(C) પિત   

(D) વરણાTગયો   

21   Accidents in press room damages to the (D) All of the above 

(A) Machine operating staff   

(B) Machinery   

(C) Goodwill of the press   

(D) All of the above   

22   Insertion of two papers at a time in printing machine is due to (C) Wrong sheet detector 

setting (A) Wrong swing gripper setting   

(B) Wrong guide wheel setting   

(C) Wrong sheet detector setting   

(D) Wrong forwarding wheel setting   

23   ભારતીય બધંારણની 370મી કલમ કોના "ારા તૈયાર કરવામા ંઆવી હતી ? (C) એન. ગોપાલા#વામી 

આયગંર (A) ટ..એન. સQયપથંી   

(B) આર.ક=. 8_ુમ`યમ   

(C) એન. ગોપાલા?વામી આયગંર   

(D) એસ. ચેaાર=b.   
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24   Why water is used in offset printing ? (C) To keep the image 

area, non image area 

separated 
(A) To keep the entire plate surface wet   

(B) To keep the image area of plate wet   

(C) To keep the image area, non image area separated   

(D) To keep the plate cylinder surface wet   

25   કબb. વ�ડ6  કપ-2016ના ભારતીય ટ.મના ક=dટન5ુ ંનામ જણાવો. (D) અ[પુ \ુમાર 

(A) જસવીર સeઘ   

(B) અજય gુમાર   

(C) નીિતન તોમર   

(D) અ5પુ gુમાર   

26   Registration of second colour is obtained with the help of (D) All of the above 

(A) Gripper   

(B) Side lays   

(C) Front lays   

(D) All of the above   

27   Joggers are placed in (D) Delivery unit 

(A) Printing unit   

(B) Damping unit   

(C) Inking unit   

(D) Delivery unit   

28   રિવશકંર મહારાજની અ5ભુવ કથાને મેઘાણીએ કયા નામે %ગટ કર. છે ? (D) માણસાઈના દ9વા 
(A) કંકાવટ.   

(B) >લુસીNારો   

(C) -ગુવ,દના   

(D) માણસાઈના દ.વા   

29   Which roller of inking unit has got receprocating/oscilating movement ? (A) Vibrator 

(A) Vibrator   

(B) Duct Roller   

(C) Forme Roller   

(D) None of the above   

30   Select single word for the following phrase: “A place where mentally 

incompetent or unbalanced people are cared for” 

(B) Asylum 

(A) Orphanage   

(B) Asylum   

(C) Destitute   

(D) Decomposer   

31   Offset printing was initiated by (D) Ira Rubel 

(A) Johannes Gutenberg   

(B) Karl Keitsch   

(C) John Aloys Seuefelder   

(D) Ira Rubel   

32   Correction in job must be done (B) After Data Entry 

(A) During Printing   

(B) After Data Entry   

(C) Before Data Entry   

(D) None of the above   
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33   “દર=ક5ુ ંકામ એ કોઈ5ુ ંનામ નથી.” - આ િવધાન કો5ુ ંછે ? (B) રસલે હાOડ̂ન 

(A) i)સ jકુાનન   

(B) રસેલ હા�ડkન   

(C) ક=નેથ એરો   

(D) અમQય6 સેન   

34   Graining of plate means (C) Creation of even 

granular texture on 

plate 
(A) Creation of gloss surface on plate   

(B) Creation of uneven granular texture on plate   

(C) Creation of even granular texture on plate   

(D) Creation of scretches on plate   

35   સાચી જોડણી દશા6વો. (B) કારOકદ_ 
(A) કારક.�દk   

(B) કાર�કદl   

(C) કાર�ક�દk   

(D) કારક.દl   

36   Halftone image means (B) Dot image 

(A) Line image   

(B) Dot image   

(C) Line as well as Dot image   

(D) Solid image   

37   The rollers of inking unit, which touches to the plate surface are called (B) Forme Rollers 

(A) Distributors   

(B) Forme Rollers   

(C) Vibrators   

(D) Riders   

38   MS Word મા ંકોઇ શYદ શોધવા માટ= કયા િવક�પનો ઉપયોગ કરવામા ંઆવે છે ? (A) Find 

(A) Find   

(B) Search   

(C) Locate   

(D) Look   

39   Before the paper is inserted in to printing unit it is stopped for positioning by (D) Front by and side by 

(A) Conveyor belt   

(B) Skeleton cylinder   

(C) Tail wheel   

(D) Front by and side by   

40   જો NOIDA ની એક સmંા 39658 બને, તો INDIA માટ= nુ ંલખાય ? (B) 63568 

(A) 36568   

(B) 63568   

(C) 63569   

(D) 65368   

41   On keyboard the key from F1 is available up to (D) F12 

(A) F8   

(B) F9   

(C) F11   

(D) F12   
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42   In the job of four colours, the plates  identified for each colour is with the 

help of 

(B) Screen angle 

(A) Em scale   

(B) Screen angle   

(C) Image size   

(D) Middle tone of image   

43   આપેલ વાNમા ંર=ખા�ંકત શYદનો gૃદંતનો %કાર જણાવોઃ ગીતા બાBુમા ંકહ=વા 

%માણે ગોઠવાય છે. 

(A) હ�6વથ+ \ૃદંત 

(A) હ=Qવથ6 gૃદંત   

(B) qતૂgૃદંત   

(C) િવrયથ6gૃદંત   

(D) ભિવsયgૃદંત   

44   In imposition scheme, the first page is kept on (B) Left side corner 

(A) Right side corner   

(B) Left side corner   

(C) Top side corner   

(D) Any side   

45   Our teacher told us that knowledge is power. (Change the voice) (A) We were told by our 

teacher that 

knowledge is power. 
(A) We were told by our teacher that knowledge is power.   

(B) It is told by our teacher that knowledge should be power.   

(C) It is told by our teacher that knowledge must be power.   

(D) It is told by our teacher that knowledge could be power.   

46   To increase the life of printing machine, it should be (A) Regularly lubricated 

(A) Regularly lubricated   

(B) Lubricate when stop production   

(C) Clean daily with water and kerosene   

(D) Keep it closed   

47   To prevent ‘set off’ of image, use (C) Anti-set-off spray 

device (A) De-flffing device   

(B) Photo cell device   

(C) Anti-set-off spray device   

(D) 3 point insertion device   

48   વડા%ધાન નર=,Iભાઈ મોદ. "ારા તા.31-12-2016ના રોજ કરવામા ંઆવેલ 

+હ=રાતો Vતગ6ત શહ=ર. િવ?તારોમા ંક=ટલા tિપયા 8ધુીની હોમ લોન ઉપર 

Jયાજદરમા ં3% નો ઘટાડો કરવામા ંઆવેલ છે ? 

(C) N. 12.00 લાખ 

(A) t. 9.00 લાખ   

(B) t. 8.00 લાખ   

(C) t. 12.00 લાખ   

(D) t. 10.00 લાખ   

49    International paper size of A5 is  (A) 148 mm x 210 mm 

(A) 148 mm x 210 mm   

(B) 210 mm x 297 mm   

(C) 297 mm x 420 mm   

(D) 420 mm x 594 mm   
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50   કિવ મકરંદ દવે પર કોની િવચારધારાનો %ભાવ વ; ુજણાય છે ? (A) aી અરિવbદ 

(A) uી અરિવvદ   

(B) મધર ટ=ર=સા   

(C) ડૉ. રાધાgૃsણ5 ્   

(D) સરદાર પટ=લ   

51   When pigment of printing ink disprese with water, is called (A) Emulsification 

(A) Emulsification   

(B) Chalking   

(C) Piling   

(D) Crystallization   

52   Which operation can not be performed by offset process ? (A) Embossing 

(A) Embossing   

(B) Cheque book printing   

(C) Reverse printing   

(D) Tint printing   

53   દાતંા તા\કુો �જુરાત રા�યના કયા xજ�લામા ંઆવેલ છે ? (D) બનાસકાઠંા 
(A) અમદાવાદ   

(B) વડોદરા   

(C) નવસાર.   

(D) બનાસકાઠંા   

54   ‘Water mark’ in paper is evecuated during (D) During paper 

manufacturing (A) Printing   

(B) Pulping   

(C) After printing   

(D) During paper manufacturing   

55   અyશુz0તથી ચાલતા વીજળ.dલા,ટમા ં{ધણ તર.ક= વપરાતા તQવ5ુ ંનામ આપો. (B) Uરુ�િનયમ 

(A) હાઈ|ોજન   

(B) -રુ= િનયમ   

(C) આસ}િનક   

(D) d\ટુોિનયમ   

56   Paper was invented by (D) China 

(A) Italy   

(B) Germany   

(C) Japan   

(D) China   

57   Registration of colour is checked with the help of (A) Magnifying glass 

(A) Magnifying glass   

(B) Telescope   

(C) Densitometer   

(D) Speedometer   

58   આપેલ િવભાxજત વાNમાનંા i િવભાગમા ંqલૂ હોય તેનો ~માકં જણાવો. (C) Nિપયોની બચતો 
(A) ઘરમા ં   

(B) એટલા   

(C) tિપયોની બચતો   

(D) Nાથંી કાઢવી ?   
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59   Which term is co-related with each other ? (A) Litho - Lime stone 

(A) Litho - Lime stone   

(B) Litho - Kota stone   

(C) Litho - Granite   

(D) Litho - Marble   

60   My teacher often says to me: “If you don’t work hard, you will fail.” (Turn 

into Indirect speech) 

(D) My teacher often says 

to me that I will fail if I 

don’t work hard. (A) My teacher often says to me that I may fail if I don’t work hard.   

(B) My teacher often says to me that I can fail if I don’t work hard.   

(C) My teacher often says to me that if I didn’t work hard, I will fail.   

(D) My teacher often says to me that I will fail if I don’t work hard.   

61   ‘Hydrophilic’ means (D) Water loving 

(A) Oil loving   

(B) Wax loving   

(C) kerosene loving   

(D) Water loving   

62   In comparision of Aluminium plate with zinc plate, (D) All of the above 

(A) Aluminium is brighter   

(B) Aluminium is light in weight   

(C) Aluminium is hydrofilic   

(D) All of the above   

63   �જુરાત રા�યના 9�ુયમ�ંી uી િવજયભાઈ tપાણી "ારા રા�યના િવકાસ માટ= 

લેવાયેલ ઝડપી િનણ6યો Vતગ6ત ‘?માટ6 િવલેજ યોજના’ Vતગ6ત રા�યના ક=ટલા 

ગામોને ?માટ6  િવલેજ તર.ક= િવz0સત કરવાના િનણ6યનો પ�રણામલ�ી અમલ 

કરવામા ંઆJયો છે ? 

(B) 300 

(A) 1000   

(B) 300   

(C) 700   

(D) 500   

64   Jogging and knocking of paper may be done before (D) All of the above 

(A) Inserting paper into feed board   

(B) Inserting paper into cutting machine   

(C) Inserting paper into feed board for second colour printing   

(D) All of the above   

65   અલકંાર જણાવોઃ ‘બળતા Vગાર સમી �ખો તેણે z?થર કર.’ (C) ઉપમા 
(A) ઉQ%ે�ા   

(B) Jયિતર=ક   

(C) ઉપમા   

(D) સWવારોપણ   

66   Mixing of Cyan and Megenta ink will result into (C) Violet colour 

(A) Blue colour   

(B) Black colour   

(C) Violet colour   

(D) Brown colour   
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67   ‘Shore Hardness’ unit is used to measure the hardness of (A) Blanket rubber 

(A) Blanket rubber   

(B) Metal roller   

(C) Fountain roller   

(D) Plate metal   

68   �ામ પચંાયતના ગામ ફંડમા ંકઈ રકમો જમા થાય છે ? (D) ઉપરોZત dણેય 

(A) અદાલત �કુમ કર= તે રકમ   

(B) અદાલતે વળતર તર.ક= આપેલી રકમ   

(C) �ામ પચંાયતે નાખેલા વેરાની રકમ   

(D) ઉપરો0ત �ણેય   

69   Inserting space and equalizing all lines is identified as (A) Justification 

(A) Justification   

(B) Right alignment   

(C) Left alignment   

(D) Perfecting   

70   “સર?વતીચIં” નવલકથાના ંલેખક કોણ હતા ? (B) ગોવધ+નરામ િdપાઠ9 
(A) દલપતરામ   

(B) ગોવધ6નરામ િ�પાઠ.   

(C) નવલરામ   

(D) નમ6દ   

71   To measure the thickness of plate, which meter is used ? (C) Micrometer 

(A) Densitometer   

(B) Speedometer   

(C) Micrometer   

(D) Hydrometer   

72   Printing ink of offset printing process can be used for (D) None of the above 

(A) Gravure   

(B) Flexo   

(C) Xerox   

(D) None of the above   

73   ‘શ�સ�ત’ શYદમા ંરહ=લ સમાસ ઓળખાવો. (B) ત6;eુુષ 

(A) ઉપપદ   

(B) તQ23ુુષ   

(C) ","   

(D) બ��ુીહ.   

74   Forme rollers of inking unit are manufactured from (C) Polyurethene 

(A) Glue   

(B) Coal and sulpher   

(C) Polyurethene   

(D) Natural rubber   

75   In the olden days, people believed that the earth was ............... . (D) stationary 

(A) stationory   

(B) stationari   

(C) stationery   

(D) stationary   
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76   British standard size of ‘Crown’ paper is  (A) 15 inch x 20 inch 

(A) 15 inch x 20 inch   

(B) 20 inch x 30 inch   

(C) 30 inch x 40 inch   

(D) 18 inch x 23 inch   

77   Collating marks are useful while performing (B) Folding / Gathering 

(A) Printing   

(B) Folding / Gathering   

(C) Laminating   

(D) Embossing   

78   ‘�યોિત + ઈ,I’ શYદની સિંધ જોડો. (A) gયોતી%h 

(A) �યોતી,I   

(B) �યોિત,I   

(C) �યોત + ઈ,I   

(D) ઝ�ોત + ઈ,I   

79   Plate cylinder consist of (D) All of the above 

(A) Bearer   

(B) Gear   

(C) Plate locking device   

(D) All of the above   

80   કિવ બોટાદકર5ુ ંક-ુ ંકાJય 'મા' ના વાQસ�યભાવને રBૂ કર= છે ? (C) જનની 
(A) �યોિતધામ   

(B) બાની ચીમટ.   

(C) જનની   

(D) વળાવી બા આવી   

81   Blanket is made from (C) Tyre Rubber 

(A) Natural Rubber   

(B) Synthetic Rubber   

(C) Tyre Rubber   

(D) P.V.C.   

82   Forme rollers of convention damping systems are generally (C) Molletone cloth 

covered (A) Linen cloth covered   

(B) Khadi cloth coverd   

(C) Molletone cloth covered   

(D) Polyester cloth covered   

83   ધાનેરા તા\કુો �જુરાત રા�યના કયા xજ�લામા ંઆવેલ છે ? (D) ખેડા 
(A) બનાસકાઠંા   

(B) Bુનાગઢ   

(C) ડાગં   

(D) ખેડા   
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84   Paper expands in offset printing because it comes into contact with (B) Water 

(A) Oil   

(B) Water   

(C) Gum arabic   

(D) Pressure   

85   USB 5ુ ં23ંુૂ નામ nુ ંછે ? (B) Universal Serial Bus 

(A) Universal Source Bus   

(B) Universal Serial Bus   

(C) Universal Section Bus   

(D) Universal Socket Bus   

86   Excess addition of ‘Dryer’ in printing ink will create (D) Crystallizaion 

(A) Mis-Registration   

(B) Scum   

(C) Set-off   

(D) Crystallizaion   

87   To preserve the plate for repeat, execute, (C) Dry wash out 

(A) Desensitization function   

(B) Wet wash out   

(C) Dry wash out   

(D) Packing of plate with news print   

88   ‘?થાવર’ શYદનો િવ3ુ�ાથX શYદ દશા6વો. (C) જગંમ 

(A) ?થાયી   

(B) ?વાથ6   

(C) જગંમ   

(D) જગંલ   

89   To prepare ‘Grey’ colour shade, which inks are to be mixed ? (A) White + Black 

(A) White + Black   

(B) White + Blue   

(C) White + Brown   

(D) White + Violet   

90   400 tિપયાની વ?> ુ10% વળતરથી વેપાર. �ાહકને વેચે, તો �ાહક= ક=ટલા tિપયા 

�કૂવવા પડ= ? 

(D) 360 

(A) 410   

(B) 140   

(C) 390   

(D) 360   

91   The ink which has the capacity to hide the underneath image is termed as (C) Opaque ink 

(A) Transperent ink   

(B) Process ink   

(C) Opaque ink   

(D) Fugitive ink   
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92   Which unit of offset printing machine is considered as ‘Heart’ of the machine ? (D) Printing 

(A) Feeder   

(B) Registration   

(C) Inking   

(D) Printing   

93   Small offset printing machine is equipped with (A) sheet feeder 

(A) sheet feeder   

(B) web feeder   

(C) continous feeder   

(D) Non of the above   

94   Tail wheel touches (A) Back edge of the 

paper to be inserted (A) Back edge of the paper to be inserted   

(B) Centre of the paper to be inserted   

(C) Front edge of the paper to be inserted   

(D) Never touches to any paper   

95   નીચેનામાથંી 2�ૃવી છંદ5ુ ંબધંારણ - 8�ૂ ક-ુ ંછે ? (C) જ સ જ સ ય લ ગા 
(A) મ ભ ન ત ત ગા ગા   

(B) મ સ જ શ ત ત ગા   

(C) જ સ જ સ ય લ ગા   

(D) મ ર ભ ન ય ય ય   

96   The skeleton cylinder is located (C) Below blanket cylinder 

(A) Above plate cylinder   

(B) Above blanket cylinder   

(C) Below blanket cylinder   

(D) Below plate cylinder   

97   Excess air flow from blowers of feeder results into (A) Lifting of more than 

one sheet (A) Lifting of more than one sheet   

(B) Lifting of one paper only   

(C) Failure in lifting of paper   

(D) Smooth functioning of feeder   

98   ભારતના વડા%ધાન નર=,Iભાઈ મોદ. "ારા તાiતરમા ંઆરંભાયેલ ‘સૌની’ યોજના 

કયા ગામથી ��ુલી 9કૂવામા ંઆવી ? 

(C) સણોસરા 

(A) ધરાસણા   

(B) જોડ.યાસણ   

(C) સણોસરા   

(D) ધોળાપરા   

99   In a job of text book which following marks must be kept on plate ? (D) Register, folding, 

cutting, gripper and 

centre 
(A) Register mark only   

(B) Folding mark only   

(C) Register and cutting mark   

(D) Register, folding, cutting, gripper and centre   
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100   નીચેના પૈક.ની કઈ આપિ�ની આગોતર. આગાહ. વૈmાિનક પrધિતએ કરવા5ુ ં

શN નથી ? 

(A) iકંૂપ 

(A) qકંૂપ   

(B) વાવાઝો�ંુ   

(C) અિતO�ૃsટ   

(D) અછત   

 


